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a1= — 0.8 = 1.21 a2 = e = 1.25
100 100
m = a2 X SL = 1.25 X 24 = 30.0 N/mf
o £oT m = 30.0 Nwf
(3)KEAVFHE(W/C) m = -16.2 + 26.8 X C/W
W/C = 26.8 = (30.0 + 16.2) X 100 = 58 % = (60%(J:[5E1 )]
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(4) BAKE (W) T BOERICE D W = 150 kg/m
(5)HMEA FE(C) C =W =+ (W/C) X 100 = 150 = 58 X 100 = 259 keg/m
Cv= C + BE = 259 + 3.04 = 85 2 /m
(6) %5 (A) A = 4.5 % X 1000 = 45 ¢ /ni
(T EMHEME(G) HILLOEFICLY MHEAEFE = 0.656 m/m EEE = 60.0 %
Gv = 0.655 X 1000 X 60.0 + 100 = 393 2/m
G = Gv X EEEE = 393 X 2.82 = 1108 kg/m
Gl =G X 30.0 % = 332 kg/m
G2 =G X 30.0 % = 332 ke/m
- G3 =G—G1—-G2 = 444 ke/md
(8) HArHIEME(S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 673 = 327 2 /m
S = Sv X EEEE = 327 X 2.67 = 873 kg/mt
S1 =S X 30.0 % = 262 ke/mt
S2 = S — S1 = 611 keg/mi
(9)MIgHE(s/a) s/a = Sv - (Gv+Sv) X 100 = 45.4 %
(10) B IR AN & (Ad) Ad = C X {FIIE = 259 X 0.800 % = 2.07 ke/m
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